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2023
ECONOMICS
( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o AARE BT fi

fa) What is cardinal utility?
SRYAS Tefcrarel {3 7

(b) State one assumption of utility analysis.

Toifarel Rosmed @b 4= foram |
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(2) (3)

2. Write short answers of the following
questions : 2x5=10

weTq 2PCAIRA 5 Ted

(c) What is production function?

Teome o 92

(d) Define income effect.

oy e siget | (a) What is meant by budget space or set?
s T 1 AR Iferc 6 &M 2
(e) What is marginal rate of substitution? X =
oiforemd 2fes T et & g= 2
(b) Distinguish between gross demand and

() What is the shape of indifference curve in net demand.

i ?
case of perfect substitutes: 15 ofeT W% O s
of Rem AR (Fae FRCTE CRF wgfe o =
@ T3 ? !
i (c) State the two conditions of consumer’s
(g) Define expansion path. equilibrium under indifference curve
approach.
reepTIe #1% i fidl |
e @ RorTe (CeR SFHR 56 1
(h) What is meant by inter-temporal choice? T 40

HESTTS R T 6 T8 ?
(d) Distinguish between explicit cost and

(i) Define oppbrtunity cost. implicit cost.
SfcaTe! R e i | P A I TP T A e v |
() State the concept of ‘shut-down point’ of
a firm. (e) State the concept of optimum firm.
glmﬁ e R I S <o) 2RO DT S 1
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(4) (5)

3. Answer the following questions (any four : () Derive average fixed cost curve from total
5x4=20 fixed cost curve.

oo 2PIERE Ted (R et wifsiv)

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

TS @A TERS Fefe v we e
SRR TS] om0

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

] SfER®, P STl A R fAaeers
i q@er I 40

(c) Briefly explain the concept of returns
to scale.

Seo(e N AR ARACH! T 0 |

T & W @R w9 B T @ AR
1 |

4. Answer the following questions : 10x4=40

]

(@)

PR Ted fudl
Define indifference curve. Explain their
properties. 2+8=10
fRers (IR F@ o | e PERR
901

Or / g

Critically discuss the law of variable
proportion. 10
ARgée e R e
D 41 |

(b) What is least cost combination of inputs?
(d) Briefly state the characteristics of Discuss how least cost combination of
perfectly competitive market. inputs is attained with the help of
isoquant and isocost lines. 10
o afecaTiETeTee ToTH cafierTgR 5403 o | "
e T KA 7 TSR (R S
R U -7 @R S e TPorod I SR
mer .
(e) Explain how a consu T =1 &, —
TSGR (AL XI5 FAR ACT, T P
24A/83 ( Continued ) 24A/83 ( Turn Over )




(6) )

QUL Sl Oor / gl
Explain the concepts of total fixed cost,

Explain inter-temporal choice of a
total variable cost and total cost. How are

consumer with the help of a diagram. 10 :
they related to each other? Explain.

TACSTON (SR SRSWETS “2vd R foaq 2+2+2+4=10

Wl T 5 39 3, T ARG 0 e T I 9=

T I | SR T T 00 0

(c) Explain short-run equilibrium of a firm
under perfect competition. 10

o afecaiere 937 «4fSdm Zeere @Ema
S[PIN) <lrS ¢, T 41 |

* ok

Or / T

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of

isoquants. 1+3+3+3=10
F-BeATH R 2 FI-Soe (X e
G, TR S FRPWH S @R
2AfSHT Crea |

(d) Define substitution effect. Explain
Slutsky substitution effect with the help

of diagram. 2+8=10
A5 e sics i | wiofe aifoem Rere
foaa aram <y 3= |

i ECO HC 1
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ECONOMICS

( Honours Core )

Paper : ECO-HC-3026

e

( Intermediate Macroeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed : 1x10=10
wers AT ot T i :
(a) Define aggregate supply.

AT @SR e il |

(b) Write the relation between inflation and
unemployment.

TS S AR e oDl 4 |
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(2)

(c) Who propounded the theory of rational
expectations?

& LR OB @I BB B 2

(d) The long-run Phillips curve is a
T fFferer @remE

(i) vertical line

TeTg G

(ii) horizontal line
SR G

(i) negatively sloping curve
YMLPSICT TIETCIET (1

(Choose the correct option)

(o= fiscor A Sferean)

(e) Define asset market.

SO S99 S |

() The purchasing power parity theory of
exchange rate involves

R 293 @7 FHeR el vgie wive A

(i) inconvertible paper currencies

AT &) @

24A/84

( Continued )

Fan

(g)

(h

0)

24A/84

(3)

(ii) convertible paper currencies
(RS FI& T4l
(iii) None of the above

89 OIS T2Y

(Choose the correct option)

(om RFac AR Tfersdr)

What is stagflation?

Tarfeste T LFe f 32

Write one monetary measure to control
inflation.

WW@%WW@@@@%
GEIl

What is rate of exchange?

faferr 2 et & @2

Mention one assumption of Mundell-
Fleming model.

oo -Gt S b1 ST Soa 1 |
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(4)

2. Answer the following questions : 2x5=10

O PPTYRS Teq fi

fa) Distinguish between market demand
and aggregate demand.
IEE T W THEE BfRwE gere i
forar |

(b) Define forward exchange rate.

Fars Ry 2 e |

(c) Mention the components of aggregate
expenditure.
AHET T SR SCEY I

(d) What is natural rate of unemployment?
Freifie A =7 e & @2

(e) Mention two factors causing variation in

exchange rate.

R ZFe STl R T P RS @

<41 |
3. Answer any four questions from the
following : 5x4=20
v 2pTged R e BT T f

(a) Explain the factors responsible for
inverse character of wage-unemploy-

ment relation.
RefAeyR TGR-Fg@ FoRRoR sfegs A
TR (2R ST 61 1 |

( Continued )

(S)

(b) Briefly explain the interaction of
aggregate demand and aggregate
supply.

THEE wlEM W AT @ SR
AR fear-eifeferunehr sqte 3 31 1

(c) Write a note on foreign trade multiplier.
R TR 89T qRNGA e[e  «fb
G fovam |

(d) Discuss the adaptive expectation
hypothesis. ‘

HSCANNETS 2O SO ST 37 |

(e) How does aggregate supply curve
determine in Keynesian economics?

P gAfes RS @5\ @2 v
RefRa s =m 2

() Explain briefly the Dornbusch’s over-
shooting model.

TP Wi WRGR R vs 3¢
1

Answer any four questions from the
following : 10x4=40

O PR e BiiRR Ted fia

(@) What is aggregate demand? Explain the
components of aggregate demand.

e sfm {2 RS SRR Semeez
e 901

24A/84 ( Turn Over )



(b)

(©

(d)

(e)

24A/84

(6)

Critically evaluate the Mundell-Fleming
model under floating exchange rate
regime.

wfr R 29 TiRfee Teda-@ie og
STRICETS FRFIC T 1 |

What is rational expectation? Explain
the role of expectations in an economy.
e aorn &7 azw SdRifee e g
Fefell 401

Critically  discuss the  monetary
approach to rate of exchange.

faffr 2 USRS I HEHI
S o= <41 |

What are the policy implications of the
Phillips curve theory? Is the Phillips
curve a poor guide for monetary policy?

e @4 o@ FRede & 6 @
e IR fofere @R W Aweme =
@2

What is international financial market?
Explain the three main types of
financial market.

urEEfee 8y Tem e & @ [ew
&S FSf01 21 2e Ry 3¢f <=1 |

( Continued )

(g)

()

24A—6000/84

(7))

Explain the determination of
equilibrium rate of exchange.

ST R 79 Rwa R s =,

0

Define inflation. Distinguish between
demand-pull and cost-push inflation.

i i fi | ofEe @RS e
IS EFFNOT TE 1A e |

* % %
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ECONOMICS
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Paper : ECO-HC-3036

( Statistical Methods for Economics )

Full Marks ;: 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
TR PPTRA ed
(@) What is statistic?
sforfe 62

(p) What is the first moment about the
mean?

g 212 g 5 2

(c) Define probability.

seIfder wge fra

24A/85 ( Turn Qver )
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(2)

(d) When are the two events said to be
mutually exclusive?

o 61 o TR e I o =2
(e) What is random variable?
Yt oo 2

() Is binomial distribution a distribution of
continuous random variable?

fRom 3% Sfifozet AT beTeq I 2 2
(g) What is the shape of the normal curve?
FORT @R SO P ?
(h) What is sample?
sfforf 75 2
(i) What is correlation?
T < 2
() Mention one property of random
sample.
gfoxes aAfer(q o1 43f Srar 4 |
2. Answer the following questions :
o] 2RI Taq i
(@) Distinguish between population and
sample.
T(E S aifewfa Tee =il o |

2x5=10

( Continued )

(b)

)

(d)

(e)

(3)

State the addition theorem  of
probability.

ISR @9 $Gh! Sy 4 |

Mention two properties of the uniform
distribution.

STRD {01 4 S 41 |

What is covariance?

2R 52

What is stratified random sampling?

TAp© Tfoes aifevam 12

3. Answer any four of the following questions :

5x4=20

o PTRE R el BIRGR T fan

(@)

(b)

24A/85

Prove the multiplication theorem of
probability.

TIOR3 SGeb! 21 41 |

A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).

B! AR T X & Wi fefb 9w -1, 0, 1
a7, TR TSIl W | E (X) Sfee |

( Turn Over )



(4) (5)

(c) Explain the concept of distribution (b) Define probability mass function (pmf).
functions for jointly distributed random Derive Poisson distribution as a limiting
L Bles case of binomial distribution.
qerd AT IMRT e IGT  Fod AR ST FoM (pmfd FRE@ 77 FHow
YIENCH! 0T 4T | 969 S q6e1 251eet *is 367 Sferaar |

{d) Mean of a binomial distribution is 4 and (c) Discuss the properties of normal
its standard deviation is +/3. Obtain the Histribution,

values of n, p and gq.

e 367 GBE Mg 4 HAF TAF [0 /3.
n, p W€ g I I Sfere|

HOIEE IDTT (TR SACAGT <647 |

(d) Find Karl Pearson’s correlation
coefficient from the following data and

(e) Explain Bayes’ rule. interpret the result : 8+2=10
GRRER I SR O B[ [ Il PRI AT @91k

() Explain the multistage  random Tferear w werre R 3947 -
sampling. X & X5, 6L T ali8 e g G
g qfoee AfSHHET I 41 | Y 9780, 75 460 Sao™Wson a0

(e) An unbiased die is thrown. Find the
4. Answer any four of the following questions : probability that the number obtained is
g 10x4=40 either an even number or a multiple of

worq e R e BifRer S fid - three or both.

TFNSF ol @B wleew T o

Derive the mean and variance of : ,, .
“ binomial distribution. 5+5=10 S ﬁﬁ@ﬂgﬁ:ﬁﬁ I 39 BIF | r{@;ﬁ,‘ﬁ
f3o IGT W41 S 2599 Sfered | (@ e
( Continued ) 24A/85 ( Turn Over )

24A/85



(9)
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What are the principal steps in a sample

survey? Discuss.

efon( FANFR oam riEemz 5 759 ScEma

901

Mention the difference between mean

deviation

standard deviation.

Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

o1 Ao WIF WAF [Roeme o) A1 SeEd
41 | e Roera o1 4 e 91 | were fum
YT o[ AMfAfEE AT WE gwe [oem ey

4l :

Age (357)

0-10
10-20
20-30
3040
40-50
50-60
60-70
70-80

15
15
23
22
25
10
S

10

Persons (q1f%)

( Continued )

(

7))

(h) Define the following with the help of one

example each :

ATOIPCA GBI SHIZATIE Tee WMEAART Rl

foear

(i) Sample space

siferf 72

(ii) Conditional probability
TEACTT SIS

(iii) Independent events

FoF T

(i) A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

BT @S 5 BT 390 HF 4 B e 9 SR |

T RIS TFAIE GbR Pree SIHwis 2 b
T4 TRl R | QD 96 A @A SR

efg 1 |
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